

- 1.
- 2
- Find a fundamental matrix for

$$\mathbf{x}' = \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} \mathbf{x}.$$

$$\begin{aligned} \begin{vmatrix} 1-r & 1 \\ 1 & 1-r \end{vmatrix} &= (1-r)^2 - 1 \\ &= r^2 - 2r \\ &= r(r-2) \end{aligned}$$

$$r=0 \\ \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} 1 \\ -1 \end{bmatrix} = \vec{0}$$

$$\overline{\mathbf{X}} = \begin{bmatrix} 1 & e^{2t} \\ -1 & e^{2t} \end{bmatrix}$$

$$r=2 \\ \begin{bmatrix} -1 & 1 \\ 1 & -1 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \vec{0}$$

- 2.
- 3
- Find the solution to the initial value problem

$$\mathbf{x}' = \begin{bmatrix} 1 & 2 \\ 0 & 3 \end{bmatrix} \mathbf{x}, \quad \mathbf{x}(0) = \begin{bmatrix} 1 \\ -1 \end{bmatrix}.$$

$$\begin{vmatrix} 1-r & 2 \\ 0 & 3-r \end{vmatrix} = (1-r)(3-r)$$

$$r=1 \\ \begin{bmatrix} 0 & 2 \\ 0 & 2 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \vec{0}$$

$$\overline{\mathbf{X}} = \begin{bmatrix} e^t & e^{3t} \\ 0 & e^{3t} \end{bmatrix}$$

$$\vec{\mathbf{X}} = \overline{\mathbf{X}} \begin{bmatrix} 2 \\ -1 \end{bmatrix}$$

$$\overline{\mathbf{X}}(0) = \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix}$$

$$= \begin{bmatrix} 2e^t - e^{3t} \\ -e^{3t} \end{bmatrix}$$

$$r=3 \\ \begin{bmatrix} -2 & 2 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \vec{0}$$

$$\overline{\mathbf{X}}^{-1}(0) = \begin{bmatrix} 1 & -1 \\ 0 & 1 \end{bmatrix}$$

$$\overline{\mathbf{X}}^{-1}(0) \begin{bmatrix} 1 \\ -1 \end{bmatrix} = \begin{bmatrix} 2 \\ -1 \end{bmatrix}$$

3. [2] Find a fundamental matrix for

$$\mathbf{x}' = \begin{bmatrix} 0 & -2 \\ 2 & 0 \end{bmatrix} \mathbf{x}.$$

$$\begin{vmatrix} -r & -2 \\ 2 & -r \end{vmatrix} = r^2 + 4 = 0$$

$$r = \pm 2i$$

$$r = 2i$$

$$\begin{bmatrix} -2i & -2 \\ 2 & -2i \end{bmatrix} \begin{bmatrix} 1 \\ -i \end{bmatrix} = \vec{0}$$

$\begin{bmatrix} i \\ 1 \end{bmatrix}$  is also a solution /  
eigenvector

$$\vec{X} = \begin{bmatrix} \cos 2t & \sin 2t \\ \sin 2t & -\cos 2t \end{bmatrix}$$

- or -

$$\vec{X} = \begin{bmatrix} -\sin 2t & \cos 2t \\ \cos 2t & \sin 2t \end{bmatrix}$$

4. [3] Find the solution to the initial value problem

$$\mathbf{x}' = \begin{bmatrix} 0 & 1 \\ -2 & -2 \end{bmatrix} \mathbf{x}, \quad \mathbf{x}(0) = \begin{bmatrix} -3 \\ 5 \end{bmatrix}.$$

$$\begin{vmatrix} -r & 1 \\ -2 & -2-r \end{vmatrix} = r^2 + 2r + 2 = (r+1)^2 + 1 = 0$$

$$r = -1 \pm i$$

$$r = -1 + i$$

$$\begin{bmatrix} 1-i & 1 \\ -2 & -1-i \end{bmatrix} \begin{bmatrix} 1 \\ -1+i \end{bmatrix}$$

$\uparrow$

$$\begin{bmatrix} 1+i \\ -2 \end{bmatrix}$$

$$\vec{X} = C_1 e^{-t} \left( \cos t \begin{bmatrix} 1 \\ -1 \end{bmatrix} - \sin t \begin{bmatrix} 0 \\ 1 \end{bmatrix} \right)$$

$$+ C_2 e^{-t} \left( \sin t \begin{bmatrix} 1 \\ -1 \end{bmatrix} + \cos t \begin{bmatrix} 0 \\ 1 \end{bmatrix} \right)$$

$$\vec{x}(0) = C_1 \begin{bmatrix} 1 \\ -1 \end{bmatrix} + C_2 \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \begin{bmatrix} -3 \\ 5 \end{bmatrix}$$

$$\text{so } C_1 = -3$$

$$C_2 = 2$$

$$\vec{X} = -3e^{-t} \begin{bmatrix} \cos t \\ -\cos t - \sin t \end{bmatrix} + 2e^{-t} \begin{bmatrix} \sin t \\ -\sin t + \cos t \end{bmatrix}$$

$$= e^{-t} \begin{bmatrix} 2 \sin t - 3 \cos t \\ 5 \cos t + \sin t \end{bmatrix}$$